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1: rotated m,, 6 [0.00,0.10]w/ outer layer

hrotdwouter_0

2: rotated m,,, 6[0.10,0.20]w/ outer layer

hrotdwouter_1

‘f

data Entries 29676
X Mean -0.005214
total fit
RMS 0.05391
—=8— peak fit X2/ ndf 51.34 /40
—— bkg fit Ny 9273+ 1205
meanl -0.0005196 + 0.0003436
— wbkg o, 0.009 £ 0.000
fraction 0.5665 + 0.0389
distance  0.0001993 + 0.0004609
9, 0.004976 + 0.000176
po 2256+ 4.4
pl -2.184 £ 0.382
p2 -0.006232 + 0.013834
p3 0.0005995 + 0.0009184
-~

4: rotated m,, 6[0.30,0.40]w/ outer layer

hrotdwouter_3

C — data Entries 34055
- . Mean -0.01144
- — total fit
- RMS 0.05079
r —&— peak fit X2 I ndf 40.22/ 40
F | — bkgit N 1.203e+04 + 1.542¢+02
C meanl  -0.0005612 + 0.0000716
[T wbkg A 0.01002 + 0.00102
r x fraction 0.6663 + 0.0751
r : - distance  0.0003144 + 0.0001504
o F a, 0.005027 + 0.000236
- = po 232.8+5.6
L E p1 -4.435 +0.381
C B p2 0.001634 + 0.016312
— E p3 0.0006062 + 0.0009209
N
T I B o R
-0.1 -0.05 0.05 0.1
3: rotated m,,, 6[0.20,0.30]w/ outer layer
hrotdwouter_2
I | —— data Entries 20780
o ) Mean 0.0002023
o — total fit
- RMS 0.05553
E | == peakiit X2/ ndf 35.26 / 40
[ | kg fit Nyo 6057 + 99.0
o meanl  -0.0005009 + 0.0004274
— [T @bk o, 0.009 £ 0.001
r fraction 0.5708 + 0.0452
— distance  0.0002575 + 0.0005585
= e 0, 0.004784 + 0.000202
— - po 1585 + 3.7
o : s pl -0.2008 + 0.3217
:— H- p2 0.002094 + 0.011715
= H p3 -8.329e-05 + 7.774e-04
- F
o s
i = i £ ::- —— bt
S N R Y U T B
-0.1 -0.05 0 0.05 0.1

I | — data Entries 18140
B ) Mean 0.006638
o — total fit
— RMS 0.05491
[ | —=— peakfit X2/ ndf 23.27 /40
I (— bkg fit Nyo 5436 + 99.2
- meanl  -0.0005192 + 0.0002862
[ | wbkg o, 0.004774 + 0.000526
C fraction 0.4957 + 0.1831
r distance 0.0008887 + 0.0005747
— 0, 0.008183 + 0.001002
C po 130.9+3.7
r pl 0.8955 + 0.2973
C p2 0.01722 +0.01152
C . p3 -0.0003084 + 0.0007266
— o H L P T
fr |, Tt += 5 - v
i I Y, N N

0.1 0.05 0.1




5: rotated m,,, 6[0.40,0.50]w/ outer layer

_ hrotdwouter_4
1600~ | —— data Entries 17210
E . Mean 0.01081
L — total fit
1400~ RMS 0.05366
r —=8— peak fit X2 I ndf 38.66 / 40
SN S p——— Ny 5492 + 100.2
L meanl  -0.0004116 + 0.0001655
[ |~ wbkg o, 0.004807 + 0.000302
1000(— fraction 0.3872 + 0.0979
r distance 0.000554 + 0.000615
800 o, 0.009271+ 0.000974
C : po 103.2+3.3
6001 : p1 0.9034 + 0.2430
r : p2 0.01449 + 0.02600
ook : p3 0.0006572 + 0.0008124
200[— A ot bt
I Y + - —
N A - S
-0.1 -0.05 0 0.05 0.1
7: rotated m,,, 6[0.60,0.70]w/ outer layer
hrotdwouter_6
2000 | — data Entries 19821
E ) Mean 0.01505
- — total fit
1800 RMS 0.05055
E | —=— peakiit X2/ ndf 38.06 /40
1600 E | = bkg it " 6921+ 118.7
o meanl  -0.0002863  0.0001277
1400 | == wbkg o 0.005067 £ 0.000211
1200~ fraction 0.2701+ 0.0649
E distance 0.001217 + 0.000731
1000 o, 0.01075 + 0.00135
C po 105.3+3.5
800 p1 2.392 £ 0.260
F p2 -0.0008687 + 0.0257369
600~ 0.0005879 + 0.0008514
400~
200~ N Sauadl
T L
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=
S
o
&
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6: rotated m,,

0 [0.50,0.60]w/ outer layer

hrotdwouter_5
1800F= . Entries 18020
1600 :_ total fit Mean 0.014
C RMS 0.05143
[ | —=— peakit X2/ ndf 55.37 /40
M0 | — g e Ny 6170 £ 120.9
o meanl  -0.0003308 + 0.0001296
1200~ | == wbkg o, 0.005201+ 0.000229
C fraction 0.2687 + 0.0604
1000 — distance 0.00122 + 0.00087
o o, 0.01188 + 0.00160
800— po 935+3.4
E pl 1.897 £ 0.265
600[— p2 0.01178 + 0.02523
E p3 0.0005537 + 0.0008345
400~
200 e
0 Er L
0.1 -0.05 0 0.05 0.1
8: rotated m,,, 6 [0.70,0.80]w/ outer layer
hrotdwouter_7
2200 Z_ —— data Entries 21332
= ) Mean 0.01602
- — total fit
2000 RMS 0.0493
F | —=— peakiit X2/ ndf 43.63/40
18001 | ___ - N 7973+ 119.6
1600 - meanl  -0.0001186 + 0.0001261
E [T @bkg o, 0.00512 £ 0.00025
1400 — £ 3 fraction 0.295 + 0.087
1200 F : distance  2.581e-05 + 6.111e-04
o ] o, 0.009913 # 0.001211
1000 E 3 po 100.7 + 3.4
E c o p1 2.947 +0.253
800 tox p2 0.01764 + 0.02574
600 sl p3 6.721e-05 + 8.587e-04
400~ : ]
E P ]
200 3 %) Janad
0 T el R AT f: EP
0.1 -0.05 0 0.05 0.1




9: rotated m,, 6[0.80,0.90]w/ outer layer

hrotdwouter_8
2500— | — data Entries 23138
B § Mean 0.01656
- — total fit
L RMS 0.04784
o —=8— peak fit X2 I ndf 43.78 /1 40
2000 | bkg fit N 8910 +115.6
- meanl  -0.0006365 + 0.0003163
| wbke o, 0.00418 + 0.00053
1500 — {4 fraction 0.6941 0.1215
- distance 0.001157 + 0.000392
r 0, 0.007363 * 0.000431
L po 112.1+3.2
1000 — pl 3.669 + 0.242
N p2 0.004081+ 0.025636
- p3 -0.0001243 + 0.0008720
500 —
: sl -+ H
0 =t PR R
-0.1 -0.05 0.05 0.1
11: rotated m,, 6 [1.00,1.10]w/ outer layer
hrotdwouter_10
3000~ | — gata Entries 26196
r X Mean 0.01742
- — total fit
C RMS 0.04687
2500[— | —=— peak fit X2/ ndf 34.99 /40
C | — bkgiit ‘ N 1.065e+04 + 1.302e+02
C | meanl  -0.0005148 + 0.0001305
2000f— = wbkg 1. o, 0.004629 + 0.000278
C fraction 0.4657 + 0.0811
r distance 0.001264 + 0.000417
1500 -t a, 0.008853 + 0.000585
r i po 114.9+3.3
r H pl 3.956 + 0.266
1000 — - p2 0.02087 + 0.02686
C p3 -0.0002967 + 0.0009272
C I
500 — _:.'
C et
0 Er—e—m—— L RO ——l
-0.1 -0.05 0 0.05 0.1

10: rotated m,, 6 [0.90,1.00]w/ outer layer

hrotdwouter_9

r data
2500 r total fit
r —=— peak fit
[ | == bkgit
2000
| — ) bkg
1500{—
1000{—
500
0 i N

Entries 25131
Mean 0.01719
RMS 0.04747
X2/ ndf 38.91/40
[\ 1.016e+04 + 1.336e+02
meanl  -0.0003301+ 0.0001426
0, 0.004872 + 0.000330
fraction 0.4177 £ 0.1043
distance 0.001123 + 0.000446
9, 0.009228 + 0.000900
po 111.8+3.4
pl 3.384 +0.270
p2 -0.02145 + 0.02573

p3 0.001817 + 0.000907

-0.1

hrotdwouter_11

Entries 26959
Mean 0.01827
RMS 0.04705
X2/ ndf 45.18 /40
Ny 1.128e+04 + 1.499e+02
meanl -0.0001668 + 0.0001094
0, 0.005313 + 0.000261
fraction 0.3056 + 0.0850
distance  0.0006768 + 0.0005075
9, 0.01044 + 0.00130
po 109 +3.7
pl 3.553+0.301
p2 0.01642 + 0.02678
p3 0.001258 + 0.000956

12: rotated m,, 6 [1.10,1.20]w/ outer layer
3000 [ | —— data
L [— totalfit
2500[— | —=— peakiit
O | = bkgfit
2000 | == wbkg
1500~ ]
C E
1000 — 3 E
500~ D
e i e e s | 45

-0.1
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13: rotated m,, 6 [1.20,1.30]w/ outer layer

hrotdwouter_12
[ | —— data Entries 27470
- § Mean 0.01856
- — total fit
» RMS 0.04689
— —=8— peak fit X2 I ndf 59.31/40
E | — bkgiit Ny 1.116e+04 + 1.391e+02
r meanl  -0.0001545 + 0.0001262
— GIbkg o, 0.005266 + 0.000246
- fraction 0.3448 +0.0844
r H distance 0.001108 + 0.000503
- B 0, 0.009771+ 0.000930
L : po 112.9+35
r : pl 3.958 + 0.288
— : p2 0.06565 + 0.02743
C E p3 -0.0008189 + 0.0009673
C 3
| A ]
e e e RPN e vt R R
0.1 -0.05 0 0.05 0.1
15: rotated m,, 6 [1.40,1.50]w/ outer layer
hrotdwouter_14
r data Entries 26248
- X Mean 0.02105
| | — total fit
C RMS 0.04719
L —&— peak fit X2/ ndf 32.38/40
[ | = bkgiit ‘ Ny 1.047e+04 + 1.343e+02
— | meanl  -0.0003034 + 0.0001813
[ [T wbkg | o, 0.004962 + 0.000353
= fraction 0.4749 + 0.1069
- distance  0.001232 + 0.000392
- 0, 0.009111+ 0.000769
C H po 98.19+3.19
- : pl 3.984 +0.281
L : p2 0.05294 + 0.02565
C p3 0.0006102 + 0.0009574
— H
o o
- - ++++""'
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14: rotated m,, 6 [1.30,1.40]w/ outer layer

hrotdwouter_13
__ data Entries 27120
- X Mean 0.01992
- total fit
r RMS 0.04678
— | —®— peakfit X2/ ndf 41.27 /140
F | — g Noo 1.112+04 + 1.377e+02
r meanl  -0.0002094 + 0.0001109
= | wbkg o, 0.004834 + 0.000192
C fraction 0.4223 + 0.0500
r distance 0.0004698 + 0.0003722
- 0, 0.01021+ 0.00060
r - p0 100.2 +3.3
r -t pl 4.233 +0.280
— . p2 0.07844 + 0.02603
C Tt p3 -0.0007773 + 0.0009463
- S
r '.: ]
0.1 -0.05 0 0.05 0.1
16: rotated m,, 8 [1.50,1.60]w/ outer layer
hrotdwouter_15
— | —— data Entries 25026
B y Mean 0.02197
o — total fit
N RMS 0.04756
|~ peakfit X2/ ndf 43.56 / 40
[ | — bk fit N 9707 + 142.0
- meanl -7.582e-05 + 1.289e-04
[T wbkg o 0.005556 + 0.000230
[ fraction 0.3197 + 0.0646
- distance  0.001644 + 0.000636
r -t o, 0.01132 £ 0.00112
o :' E po 95.61+ 3.34
— EC pl 3.942 £ 0.300
r I p2 0.05373 + 0.02592
L - s p3 0.0001185 + 0.0009781
: ::." "-:: s
L /5 A
0.1 -0.05 0 0.05 0.1



17: rotated m,, 6 [1.60,1.70]w/ outer layer 18: rotated m,, 6 [1.70,1.90]w/ outer layer

_ hrotdwouter_16 hrotdwouter_17
2200~ | —— data Entries 23363 C data Entries 39618
o M 0.02368 o M 0.02608
2000~ |I ot Rr\jasn 0.04774 3000 Lt R;Zn 0.04831
1800 |~ peakfit X2/ ndf 4259/ 40 F [ —=— peakiit X2/ ndf 43.9/40
Eo | — bk it Nyo 8781+ 147.2 N [ N 1.341e+04 + 1.606e+02
F Y 2500 f— 9
1600 meanl  -0.0002053 + 0.0001349 - meanl  -0.0001771 0.0001491
1400F- — wbkg 3 o, 0.005624 + 0.000221 [ |~ wbkg o, 0.005311+ 0.000262
- fraction 0.3042 + 0.0531 2000 r fraction 0.4576 + 0.0705
1200 distance 0.002982 + 0.000868 C . distance 0.001913 + 0.000447
E o, 0.01235 + 0.00125 o : a, 0.009987 + 0.000608
1000 |~ po 82.74 £ 3.20 1500 — : po 141.3+3.8
800 E pl 3.706 + 0.318 L : pl 8.021+ 0.365
o p2 0.09493 + 0.02581 C : p2 0.2115 + 0.0326
600 p3 -0.0006282 + 0.0010143 1000~ . p3 -0.003684 + 0.001262
E C .
E A
400 E EL
E pes 500 e S
200~ C =
0 SRS s e e — R I 0

0.1 -0.05 0 0.05 0.1
19: rotated m,, 6 [1.90,2.10]w/ outer layer 20: rotated m,, 8 [2.10,2.30]w/ outer layer
hrotdwouter_18 hrotdwouter_19
2200 |—— data Entries 30039 F | —— data Entries 20502
2000 :_ — totalfit Z’\eﬂan 0.03003 1200 | —— total fit Mean 0.03312
= s 0.04875 - RMS 0.04953
1800 :_ —8— peak fit ¥2 / ndf 5246/ 40 N —=— peak fit X2/ ndf 54.89 /40
E — kg fit Ny 9178 +139.3 1000|— | == bkg fit N 5491+ 122.0
1600 |~ meanl  -0.0001106 + 0.0002180 F meanl  0.0005359 + 0.0004619
F [T wbkg A 0.005044 + 0.000353 [ [T wbkg o 0.005381+ 0.000567
1400~ fraction 0.5737 + 0.0709 800|— fraction 0.5951+0.1153
1200~ distance  0.002661:+ 0.000482 r distance  0.002948 + 0.000625
E o, 0.01009 + 0.00056 - 0, 0.01037 + 0.00095
1000 : ) 106.1+3.2 600— po 71.02£2.77
C : pl 6.044 + 0.334 - pl 4.377 +0.300
800 = p2 0.1586 + 0.0293 200l p2 0.1359 + 0.0247
600 H p3 -0.001124 + 0.001165 N p3__ -0.001624 + 0.001009
400 = e - *
E - 200|—
200 L
E Y AR e RN BT T T T~ E
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21: rotated m,, 8 [2.30,2.50]w/ outer layer

L
—
—

data
total fit
peak fit
bkg fit

w bkg
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_|"

.I.

hrotdwouter_20

Entries 13456
Mean 0.0353
RMS 0.05011
X2/ ndf 46.1/40
No 3159 + 95.7
meanl  0.001589 + 0.000361
0, 0.007139 + 0.000273
fraction 0.2539 + 0.0444
distance 0.01+ 0.01
G, 0.01281+ 0.00157
po 49.53 + 0.56
pl 3.123 + 0.227
p2 0.08992 + 0.01954
p3 -0.001176 + 0.000858
+ T j j
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22: rotated m,, 8 [2.50,2.70]w/ outer layer

hrotdwouter_21

E data Entries 8415
- X Mean 0.03652
= total fit

o RMS 0.05069
:_ —=— peak fit X2/ ndf 48.28 / 40
E | = bikg i N, 1803 + 61.3
E meanl  -0.005593 + 0.001689
F [T wbke o, 0.009 + 0.004
F fraction 0.9055 + 0.1001
E distance 0.01+0.02
o o, 0.008509 + 0.000546
E po 29.67 +1.66
r pl 2.217 £ 0.169
- p2 0.09082 + 0.01605
F p3 -0.001946 + 0.000625
E o+ L
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